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6th Month, 4th Week, 5th Day Syllabus: Revision Test syllabus (4th Week)

Q.No.1 Encircle the correct answer from the following choices. (1×10=10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. The earth revolves around: iiii}}}}''''''''''''ÆÆÆÆ¤¤¤¤////ŠŠŠŠ̃̃̃̃ääääììììXXXX

(a) Moon e0+ (b) Sun Îg` (c) Mars %õ (d) Uranus -gß

2. Which of the following is not consellation? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy»»»»
$$$$hhhh44445555ÓÓÓÓ4444jjjj
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(a) Venus zß (b) Ursa major Qg‚Æ

(c) Leo àZz (d) Orion Zzg-y

3. How many stars of ursa major? ZZZZgggg‚‚‚‚ÆÆÆÆÆÆÆÆÄÄÄÄ****gggg}}}}÷÷÷÷????

(a) One Zq- (b) Three & (c) Five 0*õ (d) Seven ‚]

4. _________ On the end of the bowl points to the pole star. 

''''''''''''!!!!****îîîîwwwwÆÆÆÆuuuu}}}}6666,,,,7777wwww****gggg}}}}ÅÅÅÅ§§§§ssssƒƒƒƒ@@@@****ììììXXXX
(a) Dim star æî*g{ (b) Bright star ÖZg*g{
(c) Star *g{ (d) Both a & c ŠzâV c Zzg a

5. How many constcllations arc convering the whole sky?

7777gggg}}}}MMMM����yyyyÃÃÃÃ****gggg}}}}ÆÆÆÆÄÄÄÄLLLL$$$$ÖÖÖÖ====ÍÍÍÍ}}}}ƒƒƒƒññññ÷÷÷÷????
(a) 68 (b) 78 (c) 88 (d) 99

6. The study of objects found in space is called:

ÜÜÜÜ~~~~0000****ññññYYYYääääzzzzZZZZááááZZZZ����xxxx»»»»____····BBBB@@@@****ìììì::::
(a) Biology !*ÇßY (b) Astronomy M7zâò
(c) Archealogy MgHßY (d) Physiology ‚Ûc*ßY

7. Which of the following is the major cause of tides?

««««gggg~~~~ØØØØzzzzVVVV))))NNNN****ààààiiii((((ÅÅÅÅããããCCCCŠŠŠŠ~~~~zzzzzzzzìììì::::
(a) heating oceans by the Sun

Îg`Ð«g»¤/xƒ**
(b) gravitational pull of the Moon

 e0+Å¤/-¨Åæ

(c)
earthquakes on the surface of the

ocean floor

«gÆ�Ûl6,i²á

(d) change in the wind direction

ƒZÅ‚~p~

8. Seasons on the Earth's surface are caused by: iiii}}}}ÅÅÅÅRRRR6666,,,,ññññÈÈÈÈVVVVÅÅÅÅzzzzzzzzìììì::::

(a) spin motion of the Earth about its own axis

i}ÅZL"gÆ¤/Š¦ñ×

(b) orbital motion of the Earth around the Sun

i}ÅÎg`Æ¤/ŠWg&45ÿ EG
Hñ×

(c) tilt of Earth on its axis

i}»ZL"gÅ§sqî

(d) Both B & C         ŠzâV C Zzg B

9. What is the season on 22 June in the southern hemisphere?

����yyyyÃÃÃÃÃÃÃÃyyyy‚‚‚‚ññññÌÌÌÌƒƒƒƒ@@@@****ìììì???? 22 ††††!!!!ÛÛÛÛ™™™™{{{{~~~~

(a) spring ·g (b) autumn �ZV (c) summer ¤/ò (d) winter uŠ~

10. The weight of an object on Earth's surface is 600 N. What will be its

weight on the Moon's surface?

EEEEHHHHììììXXXXeeee0000++++ÅÅÅÅRRRR6666,,,,QQQQkkkk»»»»zzzziiiiyyyyHHHHƒƒƒƒÇÇÇÇ???? 600 iiii}}}}ÅÅÅÅRRRR6666,,,,ZZZZqqqq----qqqq»»»»zzzziiiiyyyy

(a) 600 N (b) 300 N (c) 200 N (d) 100 N

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  What is ursa major? Zg‚ÆHì?

(ii) An athlete can jump 5 metre up on the Earth, how high he can jump on the Moon? 

¢aZz™*ÎYìÔz{e0+6,HQz™*ÎYì? 5 Zq-Z(£Ò3ï
G

GHi}6,

(iii) How is nebula formed? mÑùáCì?

(iv) What is nebula? mÑHì?

(v) What are astronomers? M7zâ%iH÷?
(i)  What is meant by constellation. *gzVÆL$ÖÐH%ZŠì?
Q.No.3. Where stars are born? Explain. (3) ****gggg}}}}¹¹¹¹VVVVaaaaZZZZƒƒƒƒDDDD÷÷÷÷????zzzzŸŸŸŸssss####™™™™,,,,XXXX
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